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1. Ms Azzi wants to take 119 students on a trip to a waxwork attraction.
The cost of the entrance per student is £23.10

Estimate the cost of the entrance fees for Ms Azzi’s trip.
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2. Last weekend Lara picked 139 kilograms of strawberries.
She earned 54 pence per kilogram for her strawberries.

Estimate how much Lara was paid for the strawberries she picked last weekend.
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3. Tomas is planning a street barbecue.
He wants to buy some sausages.
There are 12 sausages in a packet and each packet costs £2.09

Estimate the cost of 43 packets of these sausages.
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Answers

1. £2000 because 100 x 20
2. £70 because 100 x 0.5 or 100 x 50p
3. £80 because 2 x 40
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